Membrane Biophysics Calculations Week 3:
1.  You recorded on an auditory nerve by voltage-clamping the cell at Vh= -90 mV and stepped the cell in +10 mV increments 15 times.  You measured the following I evoked at each of the command potentials (Vc):
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a.  Draw the IV relationship for this set of data.
b.  If the only permeant ion in your patch [X]i and bath [X]o where sodium….what would be the ratio of Nao/Nai? (hint:  use your IV relationship to approximate the reversal potential).
c.  If you wanted to test for sodium selectivity, what ratio of Nao/Nai could you adjust your solutions that would allow the IV to reverse at least 50 mV sooner (greater) than the present conditions?
d.  Knowing that g = Ina/(E-ENa), what are the g recorded at each of the Vc above?

e.  What does the V-g (instead of IV) curve look like?

f.  How would you normalize your data for peak conductance?

g.  What would your curve in f look like in the presence of TEA?  Cd?  TTX?  
Answers:
Since many of the components of this week’s work sheet are either graphical or could have multiple answers, please see Dr. D. if you want her to evaluate your answers (i.e. if you need confirmation or help!).
